2022 et 2| AMX| 10K} HI7|=AHGE 3F)

Stoi| CHH QIAIZA}
(2]

2022. 5.

I
Hankook Fesearch



=Ab 7R

T+ =2 L
o7 Ch - M=Zo| gt 184 O|Ar g
HHE S SHEE|M K| OfAEME(R022E 48 7|& HZ 76010 &)
B X9y, g4 ddd J|F HHSLSTE
BFE37 1,000
EEO% FARAFES A B2 95% AME|FFOAM
= Ao E BXAE +3.1%p
BN - AEAHEMSE 22Xt O|H Y-S SOl url EE)

- X9g, 98 ddE 7t

A FO(2HE)
(20228 3 AR &E FUS

2 97 7|F)

- ZARHE 6,549F, TAFEG 11,3308, TAE 1,000

orCt '6'4_7.(_ (=)

Su(Bd)= (2FCfH| 153% ZHOICHH| 75.2%)
FAFQA| . 20224 59 202 ~ 5Y 23
A7 2 (F et 2| MX|(CHEO|AL =2 4h




tE o Hie
At ()

) Hl 8 (%) ®) Hl 8 (%) (B/A)

m HH m 1,000 100 1,000 100 1.0

‘a4
=Xt 488 49 497 50 1.0
o R} 512 51 503 50 1.0

A
18-29M| 144 14 173 17 1.2
30-39A 147 15 151 15 1.0
40-49M| 202 20 184 18 0.9
50-59A 217 22 194 19 0.9
60A| O] & 290 29 298 30 1.0

HEXH

ME 195 20 188 19 1.0
IM/E7| 318 32 316 32 1.0
/MBS /58 105 11 105 11 1.0
&F/3et 91 9 98 10 1.1
/45 98 10 98 10 1.0
228 148 15 151 15 1.0
/M= 45 5 44 4 1.0




SEHA 2EZH(2

)

G

ZArRE AfElE ()

At (

A =R Of X} A =R Of Xt

2 1000 488 512 1,000 497 503

18294 144 64 80 173 91 82

A 3039A 147 70 77 151 78 73
4049 202 100 102 184 94 90

50594 217 111 106 194 98 96

60AM| Of4t 290 143 147 298 136 162

A 195 93 102 188 90 98

18-29A 35 15 20 36 17 19

qe 3039A 32 17 15 32 16 16
4049 38 20 18 33 16 17

5059A 35 17 18 34 17 17

60A| O] & 55 24 31 53 24 29

2 318 157 161 316 159 157

18~29A 44 20 24 57 30 27

ol X /77| 30394 47 22 25 52 27 25
= 4049 67 35 32 63 32 31
50~59A 71 36 35 63 32 31

60A Of & 89 44 45 81 38 43

2 105 53 52 105 53 52

18~29A 13 4 9 18 10 8

== 30394 18 9 9 15 8 7
HE/MS/58 40—49K| 20 10 10 19 10 9
50594 24 14 10 20 10 10

60A| O] & 30 16 14 33 15 18

BV 91 46 45 98 49 49

18+29A 14 7 7 16 9 7

- 30394 11 5 6 12 6 6
gF/0e 40494 20 7 13 17 9 8
50~59A 25 12 13 19 10 9

60A| O] & 21 15 6 34 15 19

A 98 49 49 98 49 49

18~29A 12 6 6 15 8 7

P 30394 14 7 7 13 7 6
/85 4049 18 10 8 17 9 8
50~59A 25 12 13 20 10 10

60A| O] & 29 14 15 33 15 18

2 148 69 79 151 75 76

18294 18 8 10 24 13 11

o AL /O 3039A 20 8 12 21 11 10
Ti/Et/8 40—~49M| 30 14 16 27 14 13
50~59A 29 16 13 30 15 15

60A Of & 51 23 28 49 22 27

A 45 21 24 44 22 22

18294 8 4 4 7 4 3

S19] /Tl = 30394 5 2 3 6 3 3
gR/HF 4049A| 9 4 5 8 4 4
5059A 8 4 4 8 4 4

60AM O| 4 15 7 8 15 7 8




KO ° o

_r z

[ ﬂ+o_.

c H

¥ I ™

> joI jol -

o2 ooy

o F 1F 153

mBEw 85 =

o == K K 2.____.

ooy = i T su

B0 5 7 BERE s

H||r_| .r_._._m_._._ oY
“T T © ol &

2
o, ok ok gy o
LY o_A_.Elv_ o OO = gy
u._._w.lmm_Au_m_l ._o._ﬁ ._o._ﬁ Mmu H_,__._._
%ﬂ126@ﬁﬁﬁ%%@
ﬁ%&& NN ALY

< KUKV e i iy = —
o S 3l S WK
OTE oo =
K 100 107 561 560 %00 oI ol ol =) K
1o_.FI._EE_._¢:o:o:o_._¢_._¢oLo_.
s T om0
M 51 351 51 350 B0 B0 %0 B0 B BI ot 5
ﬂ@%%%%@@%@@@@
I
L — AN MY INONONO — A
O o0 oo 2222999

4

(H e
(H e
[# e
[ e
[

[H e
[# e
[ e
[ e
(H e
(H e
=



=XHE

(TH2 @ %)

Base=2 A NEENE) A
m A m (1,000) 100
P
=R (497) 50
Of At (503) 50
o™
18-29A| (173) 17
30-39A (151) 15
40-49KM (184) 18
50-59A (194) 19
60A| O] AF (298) 30
ESNE:
M (188) 19
Q™47 (316) 32
& /ME/5H (105) 11
/et (98) 10
/45 (98) 10
2A2A/4H (151) 15
ZR/HMF (44) 4
=
nE-=Joic (541) 54
CHZH O] &f (459) 46
A
S/2/0 Y 1) 2
e (91) 9
o/ B /M HIA (89) 9
MA7| 5/ 8 (99) 10
AR /22 E (233) 23
e (154) 15
s (76) 8
7|E} (106) 11
/&N (131) 13
EHEX
Yoi a2 (354) 35
HE#A A=A (141) 14
X R} (143) 14
HZNES (361) 36
gda 71 AE
20022 0| 3k (152) 15
2002+ Of4-3002HR O|t (155) 15
3002t O|Ak-4002tl OJEk (169) 17
4002H O|4f-5002H O|2H (153) 15
5002t O|At-g002Hel O|Fk (104) 10
6002H2l O|Ab-7002H2 O|gk (72) 7
7002H210] A (195) 20
FOH AE4
R (345) 35
515 617) 62
o270} (38) 4
o dde(11d)
T & (0-4) (229) 23
=L (5) (400) 40
H2(6-10) (343) 34
e (7) 3
=290 &
ojg (293) 29
B At U= (601) 60
Atg.0|= (106) 11
382 E Fg
2 & UCH 411) 41
£ X gicH (589) 59
38 = oF
ALCH (276) 28
oACH (582) 58
Lri=P/{al} (141) 14
3ol Holuf X} Medaf oFEf
X &0 OjXl= g
gek2 F=Ct (315) 32
g2 FX| fECH (685) 68
32 & AY|
HolEA Y o (156) 38
222 AdE AMHE (217) 53
=3 22 8) 2
A28 St Ao BE = (30) 7

]
Hankook;?esearch



[E e01] CIQIHf2XIQt S22 2 8
[E01] 0l =2 HiRXAtete| I3ThES)2 & HOo| JAFUI?
(T %)
Base=T1 A Atell= () 2 F ot 2 X gict A
m A m (1,000) 4 59 100
]
SR (497) 35 65 100
O H (503) 48 52 100
od
18-29A| (173) 24 76 100
30-39A (151) 49 51 100
40-49KM (184) 43 57 100
50-59A (194) 45 55 100
60410 & (298) 44 56 100
AFXY
M (188) 39 61 100
I/ 47| (316) 42 58 100
O/ MB/58 (105) 32 68 100
2 /Het (98) 40 60 100
Q45 (98) 46 54 100
Si2/4E (151) 44 56 100
Z /M= (44) 45 55 100
Sked
nEO|H (541) 39 61 100
CHR{ O] & (459) 44 56 100
A
S/9/01Y (1) 32 68 100
e 91) 51 49 100
o/ S /M| A (89) 46 54 100
WA 5/ (99) 41 59 100
AR /22 /HE (233) 44 56 100
F= (154) 51 49 100
shd (76) 19 81 100
7|E} (106) 39 61 100
F2/E5% (131) 30 70 100
ESE PN
A da2EX} (354) 41 59 100
HE2 da=2XH (141) 43 57 100
At E R} (143) 51 49 100
HZNES (361) 37 63 100
HE7 712
2002402t (152) 32 68 100
2002t O|AH-3002Hel O|Tk (155) 40 60 100
3002t OfAk-4000tl OJEk (169) 40 60 100
4002+9) O|Af-5002H%) OOt (153) 39 61 100
5002HR O|A&-6002HR O|Tk (104) 48 52 100
6002H O|At-7008HR DO|TH (72) 39 61 100
7002t i0| A (195) 48 52 100
O AE4
Rk (345) 40 60 100
515 617) 42 58 100
o EZCH (38) 36 64 100
ol g dg(118)
Fl 5 (0-4) (229) 41 59 100
ZZ(5) (400) 39 61 100
H2:(6-10) (343) 45 55 100
RE (27) 24 76 100
29 o8
oe (293) 28 72 100
Hi X AS (601) 46 54 100
AtH.0|= (106) 50 50 100
3gs & dd
2 & Ut @11 100 0 100
2 A it (589 0 100 100
38 2 o
ALCH (276) 71 29 100
aiCH (582) 29 71 100
D EZCH (141) 31 69 100
S0 HOlHf X} Medaf oFEf
X|&0 O/Xl= I
ders =L (315) 49 51 100
ges FX| Y=L (685) 38 62 100
SEE = AT
HolatA Y (156) 100 0 100
=2 AdF ANH (217) 100 0 100
223 A2 (8) 100 0 100
422 St Ao BE 5 (30 100 0 100

]
Hankcokﬁesearch



ol
o

I

o
o

ra K rio

mju

™

> m
OF I
=]
In
fjo

—_—

=K A (H 1 [=}
dgg Fx|
=Lt
= I8 = (1,000) 68 100
PSE]
=Xt (497) 70 100
Of XH (503) 67 100
=E
18-29A| (173) 100
30-394] (151) 100
40-49M| (184) 100
50-59A| (194) 100
60A0] 4f (298) 100
HEXH
N (188) 100
oIH /47| (316) 100
M/ ME/EH (105) 100
HF/Het (98) 100
/45 (98) 100
A A (151) 100
Z/HF (44) 100
]
1Z0|3} (541) 100
CHRjOl 4 (459) 100
SR
5/2/01¢ @1 100
pNze:ge @1 100
=hof/ Y /A H A (89) 100
MA 7|5/ (99) 100
AR /B ™2 (233) 100
Fe (154) 100
ShAl (76) 100
7|EH (106) 100
2xY/E% (131) 100
ESEI PN
A dF2EX} (354) 100
HEAF2 a2 EXH (147) 100
A 2K} (143) 100
H AN ES (361) 100
€87 A
20021 0]t (152) 100
2008+l O] AF-3008kel 0|0t (155) 100
3002H O|At-4008HR DO|TH (169) 100
4002+9) O|Af-5002H% OOt (153) 100
5000+ O|AF-6008HYl O|Tt (104) 100
6000+ O|AF-7008HYl 0|0t 72) 100
7002+2l0] Ak (195) 100
FEE A54
SHE (345) 100
515 617) 100
@27} (38) 100
EESETEES))
& (0-4) (229) 100
= (5) (400) 100
E24(6-10) (343) 100
RE (27 100
2o o
o= (293) 100
Hi X AS (601) 100
A0l (106) 100
32 E F¢
2 H oy @11) 100
2 X giry (589) 100
38 B o
QlCH (276) 100
eicH (582) 100
==b ! (141) 100
3Eo[ HOlHj Xt MEHTf Tret
X|&0f ojXls I
dstg =Ct (315) 100
dets FX| B=Cf (685) 100
32 E A7
GHolmA Y (156) 100
d=g AE AMHE 17) 100
A=t Mz ®) 100
252 StaM A|Zto] B E 3 (30) 100

]
Hankcokﬁesearch



[E e03] =20l Cist
[E03-1] =28

| =2
= =
(&) tiet g 28 & o

N 7hs vs. Ol2] HH
[ QZO| FItR ALt

=S MO
e 85 dasme
T Mo ﬁIEI = H 2 Xt2to
Base="T1H| Atell = () EASD Bers EWJIOH X7t zmE70ct A
A 0||:|»h X—I()")\-I HAEOHE DlEl
A St stCt
oL ¥z &
= A = (1,000) 47 40 14 100
g4
=Rt (497) 43 41 16 100
oAt (503) 50 38 12 100
od
18-29A| (173) 40 39 21 100
30-39A (151) 44 40 16 100
40-49M| (184) 52 35 13 100
50-59A| (194) 50 36 13 100
60A1 O] &f (298) 46 44 9 100
AFXH
ME (188) 45 39 16 100
RI™/ A7 (316) 48 40 12 100
L/ ME/E5E (105) 42 40 18 100
/et (98) 46 40 14 100
/25 (98) 53 36 11 100
B4 A (151) 46 40 14 100
ZE/HF (44) 43 46 11 100
L
1EO0|s} (541) 45 41 14 100
CHR{ O] & (459) 48 38 13 100
A
S/9/01 Y 1) 40 41 19 100
e (91) 49 34 17 100
ThOH /B /M H| A (89) 41 45 14 100
WOl s/ R (99) 47 36 18 100
AR /e /HE (233) 51 38 11 100
T2 (154) 44 45 11 100
S (76) 43 30 26 100
7|E} (106) 56 36 8 100
/5[ (131) 40 48 12 100
EHEXS
FtE dF2EXL (354) 48 41 11 100
HEF2 dF2EXL (141) 51 33 16 100
INEE: RPN (143) 50 34 16 100
HZNES (361) 42 43 15 100
gdd 712
20002 0) 3k (152) 46 35 19 100
2007+l O|4h-3002HR O|gt (155) 47 41 12 100
3002H2l O] AH-4002t2l O]2h (169) 45 40 15 100
40022l O] 4-5002+ OjoF (153) 45 42 14 100
5002t O|Ah-g002Hel DOjak (104) 46 43 12 100
6002+ O|Ab-7002HR! Ojgt (72) 41 48 11 100
7002HR1 0] A (195) 53 35 12 100
FEH AFUH
SME (345) 46 42 12 100
s5t= 617) 48 39 14 100
D27t (38) 44 29 26 100
ol Fde(11d)
Xl (0-4) (229) 45 44 11 100
=5 (5) (400) 44 38 18 100
H2(6-10) (343) 51 38 10 100
DE 27 41 35 24 100
=291 of&
n/k= (293) 43 39 19 100
B2t UAS (601) 49 40 12 100
Atd.0|E (106) 48 40 12 100
s & 8
2 H olct @411) 70 23 7 100
2 X it (589) 30 51 18 100
3 2 o
QUCE (276) 75 21 4 100
oicH (582) 35 52 13 100
DEACH (141) 38 24 37 100
30| HOlHj X} MEdqp ot
X|&0| o)X FE
g =0t (315) 63 30 7 100
g2 FX| fECt (685) 39 44 17 100
IFEE E A7
dolatA Y o (156) 71 22 7 100
222 AE AE (217) 71 22 7 100
d=3t A5 (8) 81 19 0 100
ZE5 8 StA AZto] BB = (30) 63 31 6 100

]
Hankcokﬁesearch



[E e04]
[E03-2] 38H(

ol o
=8)0 o

rob o

e
o

2.
the

ol

04 vs. Estat HjojE 7|8t
Xt

& o Lol ALt

IeHoz
=77F g,

CFE] 0]
om, o2 A%t
R

A
gjAlo|ct 2o Mg 5
ALt
= A = (1,000) 54 27 19 100
g4
=Rt (497) 59 24 17 100
o Xt (503) 50 30 20 100
od
18-29A| (173) 52 22 26 100
30-39A (151) 58 23 19 100
40-49M| (184) 53 30 17 100
50-59A| (194) 53 30 17 100
60A1 O] &f (298) 56 28 16 100
AFXH
ME (188) 53 26 21 100
QI /A7| (316) 58 26 16 100
L/ ME/E5E (105) 46 27 27 100
a3/H™et (98) 44 30 26 100
/25 (98) 64 21 15 100
B4 A (151) 57 28 14 100
ZHE/HF (44) 47 37 15 100
L
1EO0|s} (541) 55 26 19 100
CHR{ O] & (459) 53 28 18 100
A
S/9/01 Y 1) 52 13 35 100
PR (91) 49 33 18 100
ThOH /B /M H| A (89) 45 30 25 100
WOl s/ R (99) 65 23 12 100
AR /e /HE (233) 57 29 14 100
FE (154) 52 29 19 100
S (76) 52 20 28 100
7|E} (106) 56 27 16 100
£2/E[A (131) 55 23 22 100
EHEXS
FtE dF2EXL (354) 60 27 13 100
HEF2 dF2EXL (141) 49 31 21 100
INEE: RPN (143) 51 28 21 100
HZNES (361) 53 25 22 100
gdd 712
20002 0) 3k (152) 50 23 27 100
2007+l O|4h-3002HR O|gt (155) 56 29 15 100
3002+ O|Ab-4002HR! Ojgt (169) 49 28 23 100
40022l O] 4-5002+ OjoF (153) 58 25 17 100
5002t O|Ah-g002Hel DOjak (104) 57 31 12 100
6002+ O|Ab-7002HR! Ojgt (72) 52 33 14 100
7002HR1 0] A (195) 58 25 17 100
FEH AFUH
SME (345) 56 27 17 100
s5t= 617) 55 27 18 100
D27t (38) 37 22 41 100
ol Fde(11d)
Xl (0-4) (229) 59 25 16 100
=5 (5) (400) 53 24 23 100
H2(6-10) (343) 54 33 13 100
o= 7 45 12 43 100
=291 of&
n/k= (293) 51 23 25 100
B2t UAS (601) 57 28 15 100
Atd.0|E (106) 50 29 21 100
s & 8
2 H olct @411) 45 41 14 100
= & gt (589) 61 17 22 100
3 2 o
ALt (276) 33 53 13 100
oicH (582) 69 18 13 100
DEACH (141) 34 13 53 100
30| HOlHj X} MEdqp ot
X|&0| o)X FE
g =0t (315) 34 47 19 100
g2 FX| fECt (685) 64 18 18 100
IFEE E A7
dolatA Y o (156) 42 40 18 100
222 AE AE (217) 49 41 10 100
d=3t A5 (8) 30 59 1 100
2= St AZI0| BE S (30) 34 41 25 100

]
Hankcokﬁesearch



(THR @ %)

—GIoLHS 3T E o
Base=2A2LHTASL =2 = 2| ayx () AE 23 o 23 oz 2t 7| g}
AN O
m MA m 411) 90 23 14 2
FE
=Rt (172) 88 24 15 3
of K} (239) 92 23 12 2
o
18-29A| 41 69 26 44 6
30-39A (74) 95 27 16 0
40-49M| (79) 92 32 14 3
50-59A (87) 92 18 9 2
60| 0| & (130) 93 19 5 2
AFXH
M2 (73) 92 26 15 3
QIH/47| (134) 89 21 14 2
L/ MB/E5E (34) 87 30 12 2
2z /Het (39) 91 21 3 3
/45 (45) 88 21 16 2
2248 (67) 97 23 18 1
- 2T (20) 85 33 13 0
S
DNEO0|B} (210) 90 26 14 3
CHR{ O] A (201) 91 20 14 1
E3ps]
S/Y9/01Y @ 74 41 16 0
AEY (46) 95 15 8 2
THof/ B /A H| A 41 83 40 24 0
MA/7|5/=5 41) 93 28 7 0
AR /2R /HE (102) 92 22 15 0
eSS (79) 98 17 5 1
oA (14) 61 44 52 7
7|Ef @1 94 23 12 5
DXl /E|E (39) 80 16 17 9
XL
Qi da=EXL (144) 93 22 13 0
HEA da22XG 61) 88 41 19 1
PN R PN (72) 92 19 10 3
HZNES (133) 89 20 14 4
b i )
2000+ 0] 3k (48) 83 28 19 4
2007+ O|Ab-3002HR Ojgt (62) 86 27 10 2
3002+ O|Ab-4002HR O|gt (68) 92 19 12 1
4007H O|Af-5007HY O|2H (60) 90 19 16 1
5002t O|A-g002tHel OfFk (50) 98 23 8 0
6007+l O|Ah-700T2HR O|gt (28) 86 18 23 0
700240 A (94) 94 27 13 5
FHE AFUH
ekl (138) 88 21 15 3
SIS (259) 92 24 12 2
D2t (14) 93 33 21 0
EREEETRRES))
ZlH(0-4) (94) 96 19 10 3
ZZ(5) (157) 92 27 18 3
H2(6-10) (154) 85 24 13 0
£ (6) 100 0 0 23
=29 of&
k= (83) 79 32 32 3
B X A= (275) 93 21 9 2
Atd-o|= (53) 93 22 8 2
IS 2 3d
= & lCt (411) 90 23 14 2
3 2 o
ALt (196) 95 26 16 1
eict (171 85 21 13
Dot (44) 90 18 7 5
3ol Holuj X} MEfaf oL
X|&of o)Xz &
g2 F=rot (153) 89 26 12 3
g2 FX| A= (258) 91 22 15 2
SEE = A7l
dolztA Y o (156) 87 32 20 1
2= UdF AIH (17) 93 17 10 4
d=3 3o (8) 88 0 12 0
258 StuM AZto] SE & (30 89 32 3 0

]
Hankaokﬁesearch



[E e06] (B
[E05] O O|RZE

L7

(TH - %)
_clolho st AAB US| o) pzmoy | SHEELY, AFCHEF(OF O
Pase-REHTII B E R Nae @ | mnann UL wexy sme  SHEEEL g
oe MZksh =T g TR B
= TN = 411 41 39 15 14 7
!
=XH (172) 27 40 18 26 7
O Af (239) 51 39 12 5 7
o
18-29A 41 64 11 11 31 4
30-39A (74) 40 35 14 21 13
40-49KM (79) 45 32 18 17 6
50-59A (87) 39 39 18 10 7
60| O] A (130) 32 56 11 5 6
HEXY
M (73) 42 39 14 13 5
QX /77| (134) 43 33 11 15 7
/MBS /5H (34) 43 50 12 10 8
SF/Tef (39) 34 33 35 12 3
/4= (45) 43 45 15 11 11
2A2L/dH (67) 33 52 15 17 6
/AT (20) 54 29 5 14 17
B
1ZE0|st (210) 40 39 16 14 9
CHXHO| &f (201) 41 40 13 14 6
A
S/2/0¢Y @ 58 31 0 10 0
ey (46) 40 46 14 16 5
o/ S /M| A 41) 47 32 14 28 4
MAI| 5/ 41) 27 42 16 28 2
AR /2| /M E (102) 43 34 13 11 9
FE (79) 39 50 15 3 9
st (14) 73 8 0 35 0
7| EH 41 34 47 18 9 10
F2/E| % (39) 40 34 21 9 12
EHEX| 9l
2 da 22X (144) 37 35 17 17 6
HE2 Az 2R 61) 43 41 11 16 7
RPN (72) 43 43 11 16 7
HEMES (133) 43 41 15 9 9
HE7 717 AE
20022 0] 2k (48) 51 32 19 7 6
2000t OfAk-3000tl OJFk (62) 47 38 15 13 7
3002H O|At-4008H2l DO|2H (68) 43 36 12 19 5
4002t O|Ab-5000H O]k (60) 37 37 15 13 13
50022l O|Af-6002Hd OjTt (50) 28 47 17 23 6
6002Hl O|At-7008HRl DO|H (28) 43 37 27 12 0
70021 0] A (94) 39 44 8 10 9
FEH AEAUAH
AE (138) 37 46 13 15 8
s5tE (259) 41 37 16 14 6
DEJcH (14) 73 26 0 0 14
ol g dg(11d)
TIE(0-4) (94) 39 36 19 12 5
Z L (5) (157) 44 37 15 14 11
H2:(6-10) (154) 39 44 12 16 4
g (6) 32 29 0 0 39
20 o7
o= (83) 59 16 10 24 9
B X AS (275) 33 47 16 12 6
A0l (53) 54 37 13 8 12
3egs & d"
2 & At (411 41 39 15 14 7
38 2 o
QACH (196) 56 38 11 17 2
21CH 171) 26 44 19 11 8
BaZck (44) 30 28 11 12 29
SE0| HQIHjX} MEdat ohet
X %o OjXls FE
g2 ECt (153) 39 42 13 14 7
g2 FX| #ECt (258) 42 38 16 14 7
IS = AT
ol stA Y (156) 62 23 11 21 5
4=g o= ANH (217) 23 52 19 9 8
d=3t =2 (8) 44 11 11 23 23
Z2g St A0 SE Z (30) 61 42 3 8 7

]
Hankcokﬁesearch



[E e07] (B3)

[EO6] OIH 3EHER)

(EH2 : %)

—_ojol.giS SF 2 Mo 7ASS &k
Pre=BBHITLT SR E N mpe @ [zEs we Am wempzm SRS 00V aze xs A
m HAH m @11) 53 38 7 2 100
a4
=XH (172) 52 43 4 1 100
o KH (239) 53 35 10 3 100
<E]
18-29A 41 21 79 0 0 100
30-39A (74) 36 63 1 0 100
40-49KM (79) 48 45 3 4 100
50-59A (87) 57 25 13 5 100
60| 0] & (130) 73 15 12 0 100
ZEXE]
Mg (73) 49 45 6 0 100
QIH/ 47| (134) 45 45 7 3 100
/MBS /5H (34) 64 24 4 8 100
F/Het (39) 63 28 5 4 100
/4% (45) 51 42 7 0 100
SiE2/4E (67) 64 26 10 0 100
i ZA/MF (20) 43 43 14 0 100
1ZE0|st (210) 54 35 8 3 100
CHXH O] &f (201) 51 41 6 1 100
A
S/2/0 ¢ @ 74 15 10 0 100
e (46) 50 42 8 0 100
THOH /< R/ A H A @1 36 53 5 7 100
MA7| 5/ 41 57 32 9 2 100
AR /2| /M E (102) 47 48 4 2 100
ES (79) 65 20 13 2 100
Sl (14) 8 92 0 0 100
7|E} 41) 61 28 11 0 100
DX /g| | (39) 66 31 3 0 100
X%
s a3 22X} (144) 50 42 5 2 100
HE 2 da22XH 61) 45 41 10 4 100
X AR} (72) 53 40 7 0 100
HZXNES (133) 59 31 9 1 100
dEdd VA
20022 0] 2k (48) 45 45 10 0 100
2000Hel OfAk-3000Hl OJFk (62) 43 45 12 0 100
3000Hl OfAh-4000tHl OJFk (68) 53 36 9 1 100
400%Hy O|AF-500THY 0|2k (60) 49 40 7 4 100
5002t O|At-6007Hl O|DH (50) 64 31 3 2 100
6002t O|Ak-7000tel O|Fk (28) 64 26 4 6 100
700THRI0] A (94) 56 38 5 2 100
FEE ABAM
S (138) 61 30 6 2 100
5tS (259) 48 43 7 2 100
DEZCH (14) 50 29 14 7 100
0|'—-4*'|'§(11x'|)
T (0-4) (94) 59 30 8 3 100
ZE(5) (157) 50 43 6 2 100
H2(6-10) (154) 53 38 7 2 100
RE (6) 38 42 20 0 100
29 o7
o= (83) 12 88 0 0 100
H X} A= (275) 66 25 7 2 100
A0l (53) 51 28 20 2 100
IS 2 39
= & o} (411) 53 38 7 2 100
38 = o
ALCH (196) 43 49 6 2 100
2iCH 171) 65 24 9 2 100
BaZck (44) 49 46 5 0 100
2E0] HQlufxt MEdar Tt
X|&of ojXl= Q¢
gdetg Tt (153) 58 34 6 2 100
g2 FX| f=Ct (258) 49 41 8 2 100
IS 2 AV
ol A Y (156) 0 100 0 0 100
=2 AdFE AH (217) 100 0 0 0 100
d4=3 22 (8) 0 0 0 100 100
228 StaM A0 SE Z (30) 0 0 100 0 100

]
Hankcokﬁesearch



[(E e08] (3%) 3&s 27| ©
[E07_1] S&(EA)S E7] ¥ 52 & =0 0

(EH2l @ %)
= Ol.Hj L St E M 1= T Y2l 3]
Base=& 2! H—glxgl'gl' %u = Al'Eill—/F (Eoﬁ) Eg}or(ET)_l_ %*EIII 86,_%“:'_ 7:"
=] A A
m TH m 411) 62 38 100
a4
=AH (172) 68 32 100
o &H (239) 57 43 100
E]
18-29A| 41 81 19 100
30-39A (74) 81 19 100
40-49KM (79) 67 33 100
50-59A (87) 58 42 100
60M| 0] & (130) 44 56 100
HFEXH
M (73) 61 39 100
IH/47| (134) 62 38 100
CHE/MB/5E (34) 55 45 100
/et (39) 76 24 100
/45 (45) 60 40 100
SiE2/8E (67) 61 39 100
Z /M= (20) 47 53 100
sH
NZEO0|s} (210) 55 45 100
CHA{ O] A (201) 68 32 100
A
S/9/01¢ @ 27 73 100
e (46) 59 41 100
o/ S /M| A 41) 63 37 100
MA 7|5/ 41 66 34 100
AP /2E| /M E (102) 72 28 100
ESL (79) 50 50 100
oA (14) 85 15 100
7|E} 41) 59 41 100
22/5| 5 (39) 57 43 100
XS
s dF 22X (144) 69 31 100
HIEAE AF2EZ X, 61) 68 32 100
XS YR (72) 53 47 100
HZNES (133) 56 44 100
I )
2002+ 0|3k (48) 56 44 100
2000l O|Ak-3000Hel OJFk (62) 55 45 100
3000t O]Ak-4000tel OJFF (68) 53 47 100
4002H O|Af-5002H O|DH (60) 67 33 100
5000t O|Ah-goo2tel O|Fk (50) 72 28 100
6002t O|Ak-7000tel O|Gk (28) 70 30 100
7002H210] A (94) 64 36 100
FEE ABUA
A (138) 64 36 100
S5 (259) 61 39 100
D=2} (14) 51 49 100
olgdE(11H)
Tl (0-4) (94) 61 39 100
=L (5) (157) 64 36 100
H2=(6-10) (154) 60 40 100
nE (6) 44 56 100
=29 &
0|z (83) 71 29 100
X UAS (275) 60 40 100
A0l (53) 54 46 100
IS & 34
= & UL} (411) 62 38 100
38 2 o
ALCH (196) 67 33 100
2iCH 171) 57 43 100
BaZich (44) 57 43 100
3o HQIHf X} Mefaf oLt
X|&of ojxls Q¢
gdetg Tt (153) 53 47 100
d2 FX| f=Ct (258) 67 33 100
IS E A7
ol A Y (156) 76 24 100
=2 AF ANHE (217) 56 44 100
4=t 22 (8) 31 69 100
228 staM A0 SE & (30) 39 61 100

]
Hankcokﬁesearch



(B e09] (%)
[E07_2] 3 (EE)2 27

Base=QIQIHi R Atet I & H

Atell= ()

AS
m TH m 411) 100
P
=AH (172) 100
o &H (239) 100
E]
18-29A 41 100
30-39A (74) 100
40-49A| (79) 100
50-59A] (87) 100
60M| 0] & (130) 100
AFKY
M (73) 100
IH/47| (134) 100
L /MB/5H (34) 100
/et (39) 100
o+/4= (45) 100
HA2a A 67) 100
Ze/HF (20) 100
e
1E0[3} (210) 100
CHZH O] &f (201) 100
A
/01 @ 100
e (46) 100
=hol/ Y /A HI A @1 100
A7 5/ @1) 100
AP/ 2 (102) 100
F2 (79) 100
A (14) 100
7|Ef 41) 100
25/5|%) (39) 100
ESFIONE]
HE 4F2EA (144) 100
HIEFE AFZ2X, 61) 100
R A XH 72) 100
HZMES (133) 100
HEg 71 AE
2002t/ O| gt (48) 100
2002H O|At-3008HR DO|TH (62) 100
3002H O|At-4008HR DO|TH (68) 100
4002+l O|Af-5002Hel OOt (60) 100
5002H O|At-6002HR! DO|TH (50) 100
6002t O|At-7008HR DO|TH (28) 100
7008H2I0| & (94) 100
FEE ABUA
Y5 (138) 100
55 (259) 100
DE7IcH (14) 100
olgdE(11H)
I E(0-4) (94) 100
=L (5) (157) 100
H2(6-10) (154) 100
oE (6) 100
=29 &
oe (83) 100
Hi X A= (275) 100
Ate-0|E (53) 100
3 E 78
2 X rt (411 100
3 2 o
ALt (196) 100
2iCH (a71) 100
D =7ch (44) 100
3o HQIHf X} Mefaf oLt
X %o OjXls EE
gdetg Tt (153) 100
g FX| fert (258) 100
IS E A7
ol A Y (156) 100
=g dE NE (217) 100
4=t 22 (8) 100
228 staM A0 SE & (30 100

]
Hankcokﬁesearch



[E el10] (BE) 32 2 24
[E08] O Aoz FehEa)S ENESUIN

(EH2 : %)

Base=CIQI H{ 2 X}t 28 & F N Haty, d3 § (RE & =29 “ e /8 OfZ =22t
2le MAT @) | "xgawe aoesog  TEE oezos I
T m TH m 411 83 15 4 2 7
a4
=XH (172) 81 13 4 3 10
= oA Xt (239) 85 17 3 2 6
- O
18-29A 41 64 40 14 3 9
30-39A (74) 85 16 1 3 9
40-49KM (79) 85 15 6 4 6
50-59A (87) 84 14 0 3 5
T 60| 0] & (130) 86 8 3 1 9
ESNE:
M (73) 83 10 1 1 10
QA7 (134) 77 19 5 5 6
/MBS /5H (34) 81 16 3 2 12
F/Het (39) 80 13 3 0 10
/4% (45) 90 17 5 0 5
SiE2/4E (67) 91 11 3 2 4
- ZE/MF (20) 86 20 5 0 9
1ZE0|st (210) 85 16 3 3 7
CHXH O] &f (201) 81 15 5 8
A
S/9/01¢ @ 70 15 0 0 15
_ AR (46) 87 12 4 0 11
THOH /< R/ A H A @1 87 19 5 0 3
MA7| 5/ 41 86 20 0 3 7
AR /2| /M E (102) 79 16 5 3 4
Fe (79) 84 8 1 1 10
Sk (14) 68 37 0 8 8
7|Ef 1) 79 12 7 7 8
DX /g| | (39) 90 20 5 2 10
X%
s a3 22X} (144) 83 15 4 4 5
HIEAE AF2EX, 61) 83 18 7 0 4
A YRt (72) 82 15 3 1 11
HZXNES (133) 84 14 2 2 10
dEdd VA
20022 0] 2k (48) 80 26 7 4 8
2000Hel OfAk-3000Hl OJFk (62) 83 23 6 2 5
3000Hl OfAh-4000tHl OJFk (68) 81 14 3 2 9
4002H O|Af-5002H O|DH (60) 80 16 2 1 8
5002t O|At-6007Hl O|DH (50) 90 6 0 2 6
6002t O|Ak-7000tel O|Fk (28) 85 10 0 10 5
700THRI0] A (94) 84 11 5 1 9
FEE ABAM
S (138) 82 12 3 3 8
5tS (259) 84 16 4 2 6
DEZCH (14) 80 35 6 0 20
0|'—-4*'|'§(11x'|)
T (0-4) (94) 83 13 3 2 7
ZE(5) (157) 83 19 4 3 8
H2(6-10) (154) 83 13 4 3 7
oy nE (6) 77 0 0 0 23
29 o7
0= (83) 70 37 9 3 9
Hi X AS (275) 86 8 2 2 8
A0l (53) 91 16 2 6 4
IS 2 39
= & o} (411) 83 15 4 2 7
38 = o
ALCH (196) 87 18 4 3 5
2iCH 171) 80 12 4 1 8
BaZck (44) 75 15 2 3 14
2E0] HQlufxt MEdar Tt
X|&of ojXl= Q¢
gdetg Tt (153) 76 17 7 3 11
dgs FX| Rt (258) 87 14 2 2 5
IS 2 AV
ol A Y (156) 80 26 6 5 4
=2 AdFE AH (217) 86 6 2 0 10
d4=3 22 (8) 77 24 12 0 0
228 StaM A0 SE Z (30) 78 28 0 4 7

]
Hankcokﬁesearch



H el &= A
[E09] O] Ao
(THR @ %)

Base="TA| At (F) O[ZFO[ ACH O[gFol it EERE] A
= A m (1,000) 28 58 14 100
P
=R} (497) 25 60 15 100
o &t (503) 31 56 13 100
e
18-29A| (173) 32 39 29 100
30-39A| (151) 38 43 19 100
40-49M| (184) 32 58 10 100
50-59A| (194) 24 66 10 100
60A1 O] &F (298) 19 73 8 100
AFXY
NS (188) 27 55 18 100
QIH/ 47| (316) 28 59 13 100
L/ ME/EE (105) 25 57 18 100
a3 /et (98) 28 54 18 100
/45 (98) 26 64 10 100
BAy2LH (151) 28 59 13 100
- ZA/HF (44) 33 62 5 100
S
1 ZE0(5t (541) 26 62 12 100
CHR{ O] & (459) 30 54 16 100
o
5/2/01¢Y @1 8 83 8 100
AEY (91) 31 60 9 100
oK/ B /A H| A (89) 37 44 19 100
M/ 7|5/ 5 (99) 24 61 14 100
AR /el M2 (233) 29 59 11 100
FE (154) 28 62 10 100
s (76) 32 33 36 100
7|E} (106) 25 62 14 100
22/EH (131) 21 66 13 100
X
A dF2EXL (354) 29 57 14 100
HE#2 dF 22X (141) 27 59 14 100
INES: RPN (143) 28 62 9 100
HZNES (361) 26 57 16 100
= i e )
2002H 402k (152) 24 58 18 100
2007+ O|4h-3002+R O|gt (155) 31 58 11 100
3002+ Of2f-4007tHl OJEt (169) 24 64 12 100
4002H O At-5002HRl OJ2H (153) 28 57 15 100
5002t O|AH-600T2HY O|TH (104) 32 54 14 100
6002+l O|Ah-7002+R O|gt (72) 31 64 5 100
700221 0] A (195) 28 54 18 100
FHH AFA
Rk (345) 23 60 17 100
515 (617) 30 58 12 100
a7t (38) 32 48 20 100
ol'gdE(11d)
ZlH(0-4) (229) 22 69 10 100
=2 (5) (400) 31 50 18 100
H2(6-10) (343) 28 62 10 100
= (27 23 36 41 100
=291 0%
0= (293) 35 39 26 100
H At U= (601) 24 68 8 100
Atg.0|= (106) 32 54 15 100
3gE & dd
2 & At @411) 48 42 11 100
= & gt (589) 14 70 16 100
3 2 o
At (276) 100 0 0 100
ALt (582) 0 100 0 100
Dt (141) 0 0 100 100
S0l Holuf X} ME=faf ot
X|&0 o)X= FE
gde2 =Lt (315) 40 43 18 100
gerg FX| et (685) 22 65 12 100
32 & A7
dolztA Y o (156) 61 26 13 100
2= UdFE AH (217) 39 51 10 100
Z225t A2 8) 47 53 0 100
222 St Aol SE 5 (30) 41 52 7 100

]
Hankcokﬁesearch



[(E e12] HABIRAIOIA 3 2 A

[E10] O|ZO| QUOA|CHH, Q0 =2 HIRXIH SeH(EE) & A2 02| LEANASL T DX FoML|It?
(SH ;%)
R E R EGCE
Base=%f% CIQLH| X}t IS8 = B Xhoil A ojg]  HjLXHO|AH|
olg 9s N+ @) oapiy 2ol e 2e =EAC A
2y Z Ao|ct A0|Ct
m HA m (276) 77 19 4 100
]
=R} (122) 83 15 2 100
Oof X} (154) 72 22 6 100
LEE]
18-29A| (56) 87 7 5 100
30-39A (57) 85 14 1 100
40-49M| (60) 68 26 5 100
50-59A| (46) 63 31 6 100
60A1 O] & (57) 79 19 2 100
AFXY
MEZ (51) 78 14 7 100
QIH/47| (90) 78 18 4 100
L/ MB/EE (26) 78 18 4 100
FF/Het (28) 84 11 5 100
/25 (25) 78 22 0 100
BAy2LHE (43) 66 32 2 100
- ZR/HF (14) 82 18 0 100
S
1 E0|8t (141) 75 20 5 100
CHRH O] & 136) 79 18 3 100
A
S/28/01Y ) 57 43 0 100
AEY (28) 79 13 8 100
ThoH /g /M H| A (33) 84 13 3 100
MAI|1 s/ =2 (24) 73 27 0 100
AR /E2/HE (68) 74 22 4 100
FH (44) 65 27 8 100
sk (24) 93 7 0 100
7|Ef (26) 70 25 4 100
2x/E[ 5] (28) 91 9 0 100
X
Ha dF2EXL (102) 77 20 3 100
HEF2 dF 22X (39) 73 22 5 100
INR:RuDN, 41) 74 21 5 100
HZXNES (95) 79 17 4 100
gHd 71
200021 0] 2k (36) 84 12 4 100
2002H2l O|Ab-3002+H2 O|gk (48) 86 14 0 100
3002H2l O|Ab-4002H2 O|gF (40) 70 25 4 100
4007t2! O|Af-5002H% O]t (42) 70 25 5 100
5002t O|Ar-6002HY O|2H (34) 77 17 5 100
6002t OfAt-7002tel O|2H (22) 70 26 4 100
7002HJ0| A (55) 77 18 6 100
FHY AFUH
NS (79) 87 10 3 100
51E (185) 74 23 3 100
nact (12) 53 30 18 100
oI'gdg(11d)
FlH(0-4) (49) 73 27 0 100
=2 (5) (125) 79 16 5 100
H2(6-10) 96) 76 20 5 100
£ (6) 100 0 0 100
29 0%
o= (101) 82 13 5 100
H At U= (141) 73 23 3 100
Atg.0l= (34) 76 21 3 100
3es 2 F¥
2 & At (196) 77 20 3 100
2 X gict (81) 77 17 6 100
3 = o
QUC} (276) 77 19 4 100
30 Holuf X} ME=faf ot
&0 o)X= FE
g2 =Lt (125) 76 19 5 100
g2 FX| #Ert (152) 77 20 3 100
IS & M7
HolEtA Yl (95) 82 14 4 100
238 %E AT (84) 76 24 0 100
Z225t Az ) 49 27 24 100
Z2E St A0 SE = (12) 47 45 8 100

]
Hankcokﬁesearch



